HOME SCIENCE L

(216)
Time : 22 Hours ] [ Maximum Marks : 85
Note : (1) All questions are compulsory.
(2) Marks are indicated against each question.
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The nutrient needed for muscle building and repairing of worn out cells and tissues 1
is :

(A) Carbohydrate (B) Fat

(C) Fibre (D) Protein
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The mark put on goods that are environment friendly is : 1
(A) Hallmark (B) Environment - Mark

(C) Eco-mark (D) Matka Mark

a7k 1 forg < TateRvT s SAR W S A€ :
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Cellulosic fibres are obtained from :

(A) Plants (B) Animals
(C) Petrochemical products (D) Metals

HeaIrae 7 H8l 9 I 2 & 2
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When you enter your kitchen and smell cylinder gas leaking you should not :

(A) Open the door (B) Turn the gas knob off
(C) Open the windows (D) Light the matchstick
TR TEER H faeive @ 19 &1 fwma 31 @1 81 ) o1 78 S g2
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Which is the correct order of primary teeth eruption in a child ?
(A) First molars, Lateral incisors, Canines, Central incisors

(B) Central incisors, Lateral incisors, Canines, First molars
(C) Second molars, First molars, Canines, Lateral incisors

(D) None of the above

= § ARF 3a e &1 T FH T
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Anemia is very common in Indian women due to deficiency of :

(A) Iodine (B) Iron

(C) Protein (D) Calcium
ferar YRATE Afgad A+ @ U5 & fgs! S & SR
(A) FEEH (B) dRr

(C) ¥EH (D) feeram
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Cholera spreads through :

(A) Sexual contact with infected person
(B)  Mosquito bite

(C) Coughing or sneezing

(D) Infected food and water

(A) Wi = & 919 IRIE F99 9§
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(C) @iFd a1 BiwT |

(D) 3f4a dsA a9 ¥

An example of a non-human resource is :

(A) Skills (B) Land (C) Time (D) Knowledge
TR-Ta FE1A &1 38T ¢ -
(A) @ (B) 9 (C) wux (D) M

Give any two functions and any two good food sources of Vitamin A.

eI A ¥ < F@ 9 3 =8 @ 94 [0 |

Define Knitting. Give one example of a knitted product.
fafén (g7) =i sfewfys =21 foet 99 g0 5 =1 e 3

List any four factors which influence how much a family spends on different items.
fafie 72 R IRER 3R 5T T =23 71 g9ifes ¢ 9 S°% T9)

Mention any four main physical changes that take place in adolescent girls.

FreiRl § & R T W TR 3 2

Which two wage employment opportunities will be available to you in the catering
area of Home Science ?

T8 foi & fT &7 § Syerey < 37 IR F o fas |
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14. Give two reasons why your grandparents prefer eating a steamed snack instead of a 2
fried one.

AT TRI-TET F To- AN F SIS 6 9 Tk SAS i @l Fife & HRI |

15. How does a fibre rich diet help us to remain healthy and active ? 2
SR SRR e TR 9w e iR frania @l € ?

16. What is acquired immunity and in which two ways can it be acquired ? 2

STfsia wfe ¥ = S 82 T fRA Q1 Aresl /W F S dHaAl €2

17. Why do woolens need care while washing ? ' ' 2

S TG I FEEHYES S i ST 2

18. Explain dovetailing with the help of an example. How is it beneficial in our day to day 2
life ?

= eTaT 1 SR ) HEEE § SHE | 9% qE Y YHR 9 R < Siad | FerEdl
ETSC I,

19. Suggest two ways in which a mother-in-law can help her daughter-in-law to adjustin 2
the new home after marriage.

AR ¥ 9% 79 I F T e H YHEE i R % A 9w D gee Il

20. What do you understand by life skills ? %)
Saa S 9 = i g2

21. A new-born weighs 3 kg at birth. What would be the approximate weight at one 2
year ?

T T O] %1 5 R R 3 e §1 T oW W S ATHI IR feaar grm ?

22. What advise will you give to parents to handle the rude and rebellious behaviour of 2
their son ? i

TT-fire 61 ST YR 42 % 9E qun faie SeeR @ e & e i

23. Your sister is working as a manager in a big jewellery store. Which four values should 2
she possess so as to work efficiently ?

ST 96 T 92 Se WR A SR ¥ S8 SHeE R 7 SR SieH gedi F 9 HE
e | '
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List any six factors that affect the growth of foetus in the womb.

e § gu % fom S gufen F 91 Bk 8 FRH| H GHES B

How do age and physiological needs of the family members affect meal planning ?

IER F Ge& H1 A @ ANRE AEvIHAT 9 THR § ARR HE5H ®1 guifad 1 < 2

Define :
(1) Time plan
(2) Spending plan

(3) Saving
aftfia =1 -

(1) 93 IR
() =3 ANl
(@)

What are functional finishes ? Which special finish should be applied to make a security
guard’s uniform maintenance free ? Why ?

FTcHE TGS 8 Fed & 2 TS HI M & GTH TW@-T@E & [qC HA-H [9R19 TREsT
< ST =1eq 7 R A |

Which three points will you keep in mind while designing a kitchen for your new
house ?

3T U R & fau WiER =1 fesmza o9 999 31 @9 910 &F | @it 2

Write any four symptoms of Tuberculosis.
&g A () F IR & fad |

Explain the mercerization process giving its advantages.

TEH T Fishal T gC 36& a1y fag |

Suggest four ways in which you will try to make your small house appear more
comfortable and functional with adequate storage.

% B2 THM 7 IR 701 5] $9 991, IRHeES 3 T4 9SRY T S1a Jaid & Gkl
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Why is organizing a very important part of management ?
TS el a1 1 T Heequl =1 437 Faaa &2

Explain with the help of examples how play affects the development of a five year old
child.

Wﬁmﬁfa@%@a%ﬂm@ﬁaﬁmaﬁ%mﬁgwﬁam%r
Mention any four duties of a responsible consumer.

THHACR SUHIET & =R M0 s |

Name two food products each so that a pregnant woman gets adequate amount of
ron, calcium, proteins and vitamin C.

a—a@mwiﬁ%ww@ﬁm@nﬁaﬁ#@waﬁvﬁa Ffceram, 92F 9o faeid C g
o= | e 9% |

Write four ways in which you can contribute to reducing noise pollution in your area.
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